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General Instructions :
(i) The question paper has 30 questions in all. All questions are compulsory.

(i) Questions from serial number 1 to 9 are Multiple Choice Questions. Each
question carries 1 mark.

(iii)  Questions from serial number 10 to 21 are 3 marks questions. Answer of
these questions should not exceed 80 words each.

(iv)  Questions from serial number 22 10 29 are 5 marks questions. Answer of
these. questions should not exceed 120 words each.

) Question number 30 is a map question of 5 marks (2 marks from History
and 3 marks from Geography). After filling up, attach the map inside your
answer book.
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Identify the French artist who prepared a series of four prints visualising his

dream of a world from the following :

(A) Kitagewa Utamaro

(B) Richard M. Hoe

(C) Voltaire

(D) Frederic Sorreeu s
OR

Who, among the following was a member of the French team, who

explored Mekong river 7
(A) Paul Burpard

(B) Liang Qichao

(C) Nuynh Phu So

(D) Garnier

T e ffatad 8 & e e S e g

(A) SHEd 1921

(B) TEWR 1921

(C) TemmR 1921

(D) w1921 1

The Non-Co-operation Movement began on which one of the following
dates?

(A) January 1921
(B) November 1921
(C) December 1921
(D) May 1921

3 [P.T.O.
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3. ﬁmﬁf@aﬁﬁﬁ:ma@ww%,mmwsﬁxwﬁa
T 7

(A) IR

(B) ==

©) g

(D) ToemET ;

Which one of the following ports is the biggest with a spacious natural and
well sheltered harbour ?

(A) Kolkata
(B) Chennai
(C) Mumbai
(D)  Vishakhapatnam

1. 4. ﬁumﬁaﬁazo%ﬁaﬁaﬁmgamﬁwﬁm%ﬁ@aﬁﬁﬁqmwug@ﬁw
oq7?

(A) TR W e &
(B) ST Y HW BT

(C) I I G STETer ST
(D) TS o T W S@re S

Which one of the following was the main aim to start movement on April
2006, in Nepal ?

(A) To control over government
(B) To snatch power from the king
(C) To restore democracy

(D)  To dethrone the king

32 32/1/1 4
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(D) < 1

Which one of the following countries has one party system ?
(A) China

(B) Indo-China

(C) Japan

(D) Germany

e ST ot i Prefaa & & s o g foa 7

(A) T S G a2 |

(B) ¥k et frafia A B R

(C) =% el TeHifah T g & |

(D) IwIEd adl 1
Which one of the following features is common to most of the
democracies?

(A) They have formal constitution

(B) They hold regular election

(C) They have political parties

(D) All the above

5 [P.T.O.
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(A) T
(B) wrsweft

©

-t

(D) wIEwER

Which of the following is the main informal source of credit for rural

households in India?

(&)
®
(©)
D)

Friends
Relatives
Landlords

Money lenders

foraefi samm % fore freferfae # @ i o ‘et £7

(A)

ST TRt

(B) Tl W ey
(C) TEhr=
(D) TUHIT =R W

Which of the following is a ‘barrier’ on foreign trade?

(A)
(B)
©
(D)

Tax on import
Quality control
Sales tax

Tax on local trade
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9, freferfige wal H ¥ AW 1 . o1, T e = w1 27
(A) S
(B) WG
(C) Tersett % WM
(D) TEME 1
1.8.1. mark can be seen on which of the following items 7
(A) Jewellery
(B) Edible oil
(C) Electrical appliances

(D) Cereals

10. m%wﬁmﬁmﬁm; 3
BocH

Wmﬁﬁ%m%mm@mmmw%ﬁqmﬁﬁ
=g FIT

Explain the process of unification of Italy.
OR

Explain any three steps taken by the French to develop cultivation 1n the
Mekong Delta.

32/1/1 7 | [P.T.O.
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13.

14.

15.
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o & o T g 3 TR SRR O srrter ity frar 7 e
Hfed wTE HwT| 3x1=3

How had the First World War created a new economic situation in India ?

Explain with three examples.

o § & m‘ﬁmw’wﬁaw%ﬁu%&rw?mﬁqﬁaw
EfiEel 3x1=3

How was Rowlatt Act opposed by the people in India ? Explain with

examples.

wﬁﬁaﬂtmﬁ%@ﬁsﬁﬁmﬁmwﬁm 3

Differentiate between metallic and non-metallic minerals with examples.

Wﬁ%m@a@mmaﬁqm?ﬁwﬁ%ﬁﬁwmﬁw
Ioorg i | 142=3

Which state is the largest producer of manganese in India ? Mention any

four uses of manganese.

“fﬁﬁs@ﬂ@—e@%w%n”wmﬁqwﬁ#maﬁaﬁw
FHife | \ 3x1=3

“Agriculture and industry move hand in hand.” Analyse the statement with

three examples.
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16. wmwﬁﬁ%mmwm,eﬁmﬁwm S et | en
S 2| ve we i Tl = Pt = SeeE i 142=3

Name the national political party which gets inspiration from India’s

ancient culture and values. Mention four features of that party.

17. a@@ﬂﬁﬁﬁaﬁmaﬁmmmm@ﬁ%ﬂm%ﬁ .
et 57 SereTu wied g e | 3x1=3

How do Multi-National Companies manage t0 keep the cost of production

of their goods low ? Explain with examples.

18. “ﬁw—ﬁmﬁmw@ﬁaﬁm@ﬁ@ﬁﬁ@ﬁﬁwwﬁﬁw
mmr’aﬂwa@agﬂa%?ﬁ:mu@ragﬁﬁﬁw 3

“Legal-constitutional changes by themselves cannot overcome challanges

to democracy”. Justify the statement with an example.

19. @mmﬂ%ﬁm%wﬁmwmw%?mawﬁzﬁ%ﬁm
it 3x1=3

How is money used as a medium of exchange ? Explain with examples.

20, U TS SR A et T F JEE F STer T, Sfig HEER 3R Feie
3 wrfirRaT & STUR W wed o e ue” =0 YT ¥ I8 YT TR
STer g T i T 3
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“An ideal government would not only keep itself away from corruption but
also make fighting corruption and black money a top priority”. Justify the
statement by highlighting the values attached to it.

21, THESR T IS 2T IusiirT % &9 T 5 TR ayfrerl S 27 el
afea @ i | 3x1=3 )

How do we participate in the market as producers and consumers ? Explain

with three examples.

22. @qﬁ‘w’%ﬁw%ﬁﬁwﬁé@%ﬁ%ﬂwm@&ﬁwﬁmﬁ?
JeTeRw Afea T ANl 5%1=5

YT

ﬁw@rraaﬁ,vﬁﬁ%wmﬁ%m%ﬁ,wﬁ%ﬁﬁw
R TR 97 STeN afga TE T

How did culture play an important role in creating the idea of the ‘nation’

in Europe? Explain with examples.
OR

How were Vietnamese nationalists inspired by Japan and China to set up a

democratic republic ? Explain with examples. 2

23, ““wftm o e el 1 wrfien wgd difE off |’ g8 U S
e V 5

“Dalit participation was limited in the Civil Disobedience Movement”.

Examine the statement.

32/1/1 10 32,
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24. mﬁaﬁzﬁﬁ@waﬁﬁﬁﬁamﬁﬁsﬁ:ﬁ- ity T Bt =T S 5%1=5
contro! industrial pollution in India. -

Explain any five measures {0
n

25. mﬁmqﬁaﬁé&wﬁ%ﬁf 'qﬁqg@nn@ﬂaﬁmaﬁqﬁ%m 5x1=5
Describe any five major problems faced by road transport in India.
26. ﬁm%sﬁﬁwﬁaﬁ@%ﬁ%aﬁmﬂ—ﬁﬁnﬁ%ﬁ%@mmmm@a L 5
7 T I 5 d
How did the struggle of the Nepali people become a source of inspiration to
: e ‘
democrats all over the world ? Explain.
27. “Wwﬁﬁmﬁmwm%,mwﬁsﬁmmﬁ Z
nmaml”sﬂmmsﬁmmﬁéwﬁm\ 5
«Democracy is seen to be good in principle but felt to be not sO good in
practice.” Justify the statement.
28. m%ﬁﬁmmmm@mmﬁﬁﬁnﬁﬁ? IETE wied T
R 5x1=5 0
. 0
How have our markets been transformed in recent years ? Explain with
examples.
D
32/11 11 [p.T.O.
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29, SR ¥ IudEdreT % e & forg frem ofit e = creves #7 sewwn
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Why are rules and regulations required for the protection of the consumers,

in the market place ? Explain with examples.

30.1. & A0 A R B MR % Ui tEr-aEtas # fiu g #) = aeen w5
Freffag SRl i ¥ @ g oK S99 wE T aeiE W 3ifnd Yt
R ferre ; 2x1=2

A 8 T, STEl I T e 1 SAfee e 1920 H g3 A
B 98 TM, ST ‘et il Gt A are BRET ST STEIe STOR g3 o)

30.2. st Ry u wra & weHifos Yar-nets # frefoias sao = 3uge e 9
feraTeT 3R 37k 7w fafa - 3x1=3

() eI - 3T Sl a9
(i) ST - TET SR 3w
(iii) I - T R

30.1. Two features A and B, are marked in the political outline map of India.

Identify these features with the help of the following information and write

their correct names on the lines marked in the map :

A The place, where the Indian National Congress Session was held in
December 1920. '

B The place, where the ‘“Movement of Indigo Planters’ was started.

32/1/1 12
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30.2. On the same given political outline map of India, locate and label the l

following features with appropriate symbols :
(1) Kalpakkam - Nuclear power plant
(i) Bhadrawati - Iron and steel plant

(iii) Kochchi - Major sea port : —‘

Tre ; Tewrfertian e e g wvenfet 3 g e T 30 F W WE 5%1=5

Bl

30.1 39 T %1 70 =TSy, S e 1920 # WAt TEE wEE i ATETE gal
AT | e
30.2 % F AR R, &l et o St e Tt R T AT I g o ¥
n
30.3 IO Y A o Srmorferes St S 1 AW SaTs | :

30.4 SETE A e oiteT- ST T B 1 S |

)0
0

30.5 WA o1 G STl TE T e w Wt
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Note : The following questions are for the BLIND CANDIDATES only, in lieu of
question number 30,

30.1 Name the place, where Indian National Congress Session was held in
December 1920,

EITIRN R TITe

30.2  Which is the place, where ‘Indigo Planters Movement’ started ?

30.3 Name the nuclear plant located in Uttar Pradesh.

30.4 Name the iron and stee] plant located in Chhattisgarh.

30.5 Which is the major sea port of southern most part of India ?

32/1/1 14
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MAP For Q. No. 30.1, 30.2
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